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Guess Paper – 2010
Class – X
Subject – Maths           
     i)   All questions are compulsory.              
      ii )  The questions paper consists of 30 questions divided into four sections ---  A , B , C and D  

 Section A comprises of ten questions of 1 marks each , Section B comprises of five questions of 2 marks each , Section C comprises of ten questions of 3 marks each and section D comprises of five questions of 6 marks each. 

     iii )  All questions in Section A are to be answered  in one word , one sentence or as per the exact requirement of the question.
    iv )   There is no overall choice .However  , an internal choice has been provided in one question of 2 marks each , three question of 3 marks each and two questions of 6 marks  each. You have to attempt only one of the alternatives in all such questions.
   v )  In questions on construction , the drawings should be neat and exactly as per given measurement.

  vi ) Use of calculator   is not permitted.
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S E C  -  A

  1 )  Define fundamental theorem of arithmetic ?

  2 )  Find the quadratic polynomial with given numbers √ 2 , 1 / 3 , as the sum and product of its zeros respectively .

 3 )    Find the value of  P for which the pair of linear equation 2px + 3y = 7 ; 2x + y = 6 has exactly one solution .

4 )     Find the  missing term in the boxes :-

      

     -5 ,                           ,  7  ?

5 )    If A ,B , C are the interior angles of  Δ ABC , then show   Sin    B + C     =  Cos     A

                                                                                                                  2                         2
6 )   In  a box  there are 800 bulbs , out of which 20 bulbs  are defective , one bulb is taken out at random. Find the probability that bulb is not defective ?
7 ) In  Δ ABC ,          B   =   90 o  , If   tan A =  1 / √ 3 , find Cos A Cos C  - Sin A Sin C ?

  8 )      In the given figure ,  If AB = AC  
                                                                 A

                                                       D                       E


                                             B                                           C                                                                                                                       
                                                                   E 

                                   Prove that     BE =  EC ?

    9 )  2 cubes each of volume 616 cm3 are joined end to end . Find the surface area of resulting cuboid ?
    10 )  find the median from the graph ?
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S E C - B
11 )    On dividing      x3 – 3 x2 +  x  +  2 by a polynomial    by a polynomials   g( x) , the quotient and remainder were  x - 2   and   -2 x +  4  respectively , find g (x)  ?                                      


12 )  In  figure      QR               QT      &          Q    =          R     show  Δ PQ R              Δ TQR
                             QS                 PR
                                                                            T     

                                                                      P

            

                                                            Q                  S               R    
13 )  If   ( 1 , 2 ) , ( 4 , y ) and ( 3 , 5 ) are the vertices  of a parallelogram taken in order , find the value of  x and y ?

14 )  Prove that : 


                                      1 + Sin A            =   Sec A  +  tan A 
                                       1 – SinA

15 ) Five cards – the ten jack , queen , king  and ace of diamonds , are well shuffled with their face downwards , one card is then picked up at random 

    i )  What is the probability that card is queen   ii )  if queen is drawn and put aside , what is the 
       probability that second card is picked up is a ) an ace  b ) a queen  ?
                                                                ( OR )                     

Find  the  mode of the following frequency distribution ;-

 Marks  :                       10 – 20               20 –  30              30 – 40                 40 – 50                 50 – 60    

  No. of students :             12                       35                       45                        25                          13                 

S E C - C

16 )  Use  Euclid’ s  Division lemma to show that the cube of any positive integer is either of  form 9q , 9q + 1 , 9q + 8 ?

17 )  Draw graph of equation  x – y  - 1 =  0   and 2x +  3y  - 1 2  = 0 , determine the coordinates of vertices of triangle formed by these lines and y – axis and shade the region ? 

18 )    For what value of a and b  , the following system  of linear equation have an infinite solution 

        2x  -  3y  = 7 ;      ( a + b ) x -  ( a + b-3 ) y  = 4a + b  .

                                                                OR 

  Find the root of following quadratic equation , if they exist , by the method of completing the square  :   -     4x 2 + 4 √ 3 x  +  3 = 0  ?

 19 )  If  x = r Sin A Cos C  , y =  r Sin A Sin C  and Z = r Cos A , Prove r 2 =  x 2  + y 2 +  z 2  

                                                            OR 

         If  Cosec Ө - Sin Ө = a 3 , Sec Ө -  Cos Ө  = b 3 ,  prove that a 2  b 2 ( a 2 + b 2 )  = 1  ?
20 )  If   mth  terms  of AP is 1 / n and nth   term is 1 / m , show that sum of first mn  terms of AP is 

                   1         mn  +  1       ?
                   2
 21 )   In  figure , XY  and   X /  Y /  are two parallel tangents to a circle with centre O and another tangent    AB with point of contact C intersecting tangents XY at A and X / Y / at B . 
 Prove        AOB = 90o                                                               
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                                                               Q                                                  


                                          X/                       Q           B                   Y/   

                                                                  OR
In Δ ABC ,       B   =  90 o , such that AB = 6 cm , BC = 8 cm .A circle is inscribed in Δ ABC , find the radius of the inscribed     circle
                                         A

                                                                     R

                                          P
                                           B             Q                                        C

22 )  Find  k   for which  the points ( k , 2 – 2 k ) , ( - k + 1 , 2 k ) , ( - 4 - k , 6 – 2 k ) are collinear

23 )  Draw a right triangle  in which the sides ( other than hypotenuse ) are of length 4 cm and 3 cm then construct another triangle whose  sides are 5 / 3 times the corresponding sides of given triangle?  

 24 )  Find the area of shaded region where in figure , ABC is quadrant  of circle of radius 16 cm and a semicircle is drawn with BC as diameter , find the area of shaded  region 
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                                              A                              C                    
 25 )  Determine  the ratio in which  P ( m , 6 ) divides the join of  A( - 4 , 3 ) & B ( 2 , 8 ) . Also , find ‘m’ ?
SEC - D

 26 )  Two water taps together can fill a tank in 75 / 8 hrs . The tap of larger diameter takes 10 hr less than the smaller one to fill the tank separately . find the time in which each tap can separately fill the tank ?
    27 )   A straight highway leads to the foot of the tower .A man standing at the top of the tower observes a car at an angle of depression of 30o  at the top , which is approaching the foot of  the tower with a uniform speed . Six seconds later , the angle of depression of the car is found to be 60o , find the time taken by the car to reach the foot of the tower ?
                                                                 OR

From  a window  , 60 meter high above the ground  of a house in a street , the angle of elevation  and depression of top of another house on opposite side of street  are 60o  & 45o respectively . Show that height of the opposite house is 60 ( 1 + √ 3 ) meters .?  

28 )  Prove that in a right  triangle , the square of the hypotenuse is equal to the sum of the squares of the other two sides . By using the above , prove that 3 AB2 =  4AD2 , if in equilateral triangle ABC , AD          CB , D  lies on BC . 

29 )  A metallic right circular cone 20 m high and whose vertical angle is 60o is cut  into two parts at the middle of its height by  a plane parallel to the base . If the frustum so obtained be drawn into a wire of diameter 1 / 16 cm , find the length of wire ?
                                                                 OR

From a solid  cylinder whose height is 2.4 cm and diameter 1. 4 cm , a conical cavity of same height and same diameter is hollowed out . Find the total surface area of remaining solid to nearest cm2 .
30 )  During the evaluation of mathematics test of 100 students , their marks were recorded as follows :

	Marks in test
	no. of  students

	  20 – 30
	4

	 30 - 40
	12

	               40 - 50
	14

	 50- 60
	16

	   60 - 70
	20

	   70 - 80
	16

	   80 - 90
	10

	    90 - 100
	8


Draw a ‘less than ‘  and  ‘more than’  ogive   simultaneously on the same graph  and observe the median and check your result by using the formula
ANSWER
	Q1
	          Q2           
	Q3
	  Q4
	  Q5
	  Q6
	  Q7
	  Q8        
	  Q9
	 Q10

	 -                
	  3x2 -3√2 x +1= 0
	p≠3
	-1 , 3                       
	   -
	39/ 40 
	   0
	  -
	  432cc
	 145

	Q11
	Q12
	Q13
	Q14
	Q15

	x2- x + 1
	-----
	   (6 , 3 )
	-
	1/ 5 , 1 / 4 , 0,
33.33 ( or)


	Q16
	Q17
	Q18
	Q19
	Q20
	Q21
	Q22
	Q23
	Q24
	Q25

	-               
	x = 3, y = 2
(0,4),(0, -1),
( 3, 2)
	a = -5, 
 b = -1,
-√3/2,-           √3/2
	-
	-
	- , 
2cm
	k = 1 / 2 
k = - 1
	   -
	128cm2
	 3:2,   

m = - 2/5


	        Q26
	         Q27
	      Q28
	      Q29
	     Q30

	25 hrs, 15 hrs
	      3 seconds
	         -
	7964.4cm , 18cm2
	      62 
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